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(A) det(4)=10 .
B) 4 BEREE
(C) trace(4™y=-17

D) A s=-1
B @u=5
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(A) det(4) = det(4™
(B) # 4 £— orthogonal 4FfE - 8 det()=1 = -1
(©) & 4 BEJERE A" 727 - Bljda(d™) = det(4)"!
(D) & B FERSERES Bl de(B ' 4B)= det(d)
(BE) # 4 B2 B HAHEN eigenvalues - AlF4=8
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(A) 4 B={E1BEH eigenvalues

(B) -1 & 4 B9—{& eigenvalue

(C) 4 & 4 B9—{& eigenvalue

(D) [1100]" & 4 #9—{F eigenvector
(B) [1110]T & 4 #9—1& eigenvector

5 ETR >R 85— orthogonal operator » H T(v) = 4v » SERILI T4k
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(A) 4 BFR{EHERY eigenvalues
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(B) F det(d)=1-HI T B— IS EE (rotation operator) -
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(A) -4 5 B #9—1E eigenvalue

(B) -6 55 B #9—{& eigenvalue

(©) det(B)=-192

(D) B m[¥tA{k

(B) HFfE— 33 4Ef C» A C*=B
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(A) 4 89 rank £5 3.

(B) 4 BY rank 5 2

(C) 4 BY null space 2 dimension & 2

M) [121]" & 4 # null space = —{AEE (basis)
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1 0
B) 1 5 4 B9—{& eigenvalue
(€©) 0.5 8 4 W—1F eigenvalue

{0.5 0.5}
(A) 4=

2
(D) B koo B 4= %
3

€) & ko B> Gk%
10. Z LT P ERGE -

(BB 3 4 B— mxn 5 » Bl 4 89 null space JZ\;:Eé 2" 8 subspace

(Z) % 4 B—rsmkziEE  BERERIIERRE k- A% PR
1t :

() BHEERNEAIERE (elementary matrix) E > FRE det(E) = det(E")

(& W.B R A& subspace > BIHE—FIN K" WEE v b
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D) PEHE

(BE) ¥FIEHE

 EEkHES AHTEFEYGeneral solution © "4y" + 36y = ese3x %ﬁlﬁl%‘l‘ﬁﬂlﬁ
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THHTERIE ? (5%)

(A) A B 2nd-order linear equation

(B) General solution = Complementary funcnon + Particular solution
(C) Characteristic equation £ 4m®+36=0

(D) Complementary function £ y, =c,cos3x+c¢,sin3x, Ef ¢ & ¢ B -
EEEH
(E) Particular solution FJLARE Undeterminant-coefficient approach %

. TF{E#E E—Particular solution ? (10%)

(A) y, = —%xcos3x+%(sin3x) Injsin 3|

®) y,= —%x cos3x + glg(sin 3x)Injcos3x|
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© vy, = ——3%xcos3x+%(sin3x)ln|cos3x|

D) y, = ——l—xcos3x + L(sin 3x)ln|sin 3x|
36 12

(B) A &Ik
- BRATEE Py - 2xy' + 2y =6 TS - FEEE T IIRIE
TIHTERIE 7 (5%)

(A) B Cauchy-Euler Equation A ‘ :

(B) General solution = Complementary function + Particular solution

(C) Characteristic equation £ m(m~1)-2m+2=0 .

(D) Complementary function £ y, =cx+c,x’, b ¢ K ¢ BIEEFEE
(B) Particular solutionA]LIES y, =3
#FfRinitial value y(0) = A K y'(0) =B » THIFEMTHIERE ? %)
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(B) It A=3 Kk B REERR ~FAENBEEHE—

(C) i A=3 & B BEEE &I HIE9RRESE
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D) N A &k B HEEEE ZAEANEISEEESE
(B) DAL EESIE
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» BRAKEEASF)System of the differential equations d_X= 0 2 5X
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(A) Eigenvalues det(A - A =2 -1 =0
1
(B) K={0| Z{@#Eigenvector
0

(C) Independent EigenvectorgnE—n#Y
(D) #Eik{E A Eigenvectorf§ AR R ERF R HZE
(B) U EEF—EEEREN
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16. General solution FJDIFERAA ? Hf ¢

1 1 0 17, 01 fo] ]
(A)X =c¢|0e* +¢,9| 0 fte™ +|~5/6 e t+¢,4] 0 L] osrele+| 1ol
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1] 1 0 17, [o 0 |
(B)X =c¢{|0 e2[+cz<[0}tezt+[l}e2t +¢34(0 Lo |1 fe®+|-5/6 e

0] Lo 0 0f> 0 /6 | |

(1] [1 0 1], 0
(C)X =c,| 0 +c,q| O]te® +| 1 |e* b+c,4)0 t—?-ez‘+ 1|te* +
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1 1 0 1, 0 0
D)X =¢,| 0 +¢,4| 0 fte* +|~5/6 6" }+¢,[ 0 %e2‘+ 516 |te? +| 1 ]¢*
0 0 1/6 0 1/6 1
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17. THR— A TR ? O%)

(A) ? - xy”2 =0 subjecttoy(0)=0
b

(B) y" + 16y = 0 subject to y(0) = 0, y(n/2) = 1
(C) y" + 16y = 0 subject to y(0) =0, y(n/8) =0
(D) y" + 16y = 0 subject to y(0) =0, y(n/2) =0
(E) LALEIE

18. {Sin;h t} B Laplace transform 54817 (5%)
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